o
[N

x1073 02 x1073

T F ~ F
= F <) F
A Q.15 ------- I SRR ALl & It 6'0.15_— """"""""""""""""
S F (5} F T
S T o T | e S T © 0.1
v F A2
0.05F------- 0.05F T
Of---- oF
—-0.05F--------{{ -0.05F T
=0.0F--eeeeee -0.1--1
—0.A5F - e -0.15F
9_02: Ll " ||||||! L |||“ ||! L 9_02; " nn |||! |0||| ||! " A L
= F ||t ' ' 5 1S -
o 2F---- +| EEEE ERREE ST A R o
bl M*ll 111 R

-1 2 3
10 1 TPlpoT (PCA 16 beamiinéf

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_updated-127

<op/p.> (%)

1

[y
o2
I8

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


